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N A=250
M FH2S =4
el =HES A (&)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
| & 282,000
CESEY ST HAUW AIEESs 1,041,000 177,000 864,000
403 XAXISHM S X201 A 1,041,000 177,000 864,000
01 XXM A2E = 1,041,000 177,000 864,000
Ok==g S8 LU MEE=> 1,041,000
st=0e0g &4 200,000 0 200,000
403 XAXISH M S K201 A 200,000 0 200,000
01 HXISHT =2 = 200,000 0 200,000
Ost= glgiots &4 200,000
SA HMXIS HRHAEH XA 50,000 0 50,000
403 Mt S X201 & 50,000 0 50,000
01 HXISHT 2L 50,000 0 50,000
OHEFA 23 TAHM ISR HEH &EX 50,000
SYs g2 Jt2F & gy &x 15,000 0 15,000
403 XXM S X201 15,000 0 15,000
01 USRI =EF 15,000 0 15,000
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HEHHK = 904,000 904,000 0
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